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( Example 9 ) Prove each trigonometric identity. Double-Angle Identities
sin2x = 2sinx cos X
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sin15° = ———~
Lesson Notes )
(Example 10) Prove each trigonometric identity. Double-Angle Identities
: ) sin2x = 2sinx cos X
a) cos® x —sin* x = cos2x b) 1-(sinx +cosx) j:sinZX
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Assorted Proofs

(Example 1 1> Prove each trigonometric identity.

a) 2csc2x = CSCXSecx b) m
| - cosxsiny

S P = -t *
CofC cos¢ ~ T Slaxtin, [t g‘;‘}&(&gp + (m5K éz’g;,

- rl oL C.
-~ - ,,,: 2{(},;?/,\ }‘/\ éi(\\?/

LS (s AT CHs ~

=tanxcoty +1

- B S/a )1(,4[ of t)’\‘
( of‘@y{\/ﬁ \d’ ’

' / 7 _tanx +1

Vs
VA

’ ;;’,/ y / /,,:‘ , ;,/1 L/
c) sin88/cosB8 < cos88 sin58 £~ / d) tan| x+—|=
) //4 Y yaaaws v /f/ ) ( 4) 1-tanx

/ ”/ sf‘ / . > B . Ly
/s G Ty i L g
/ U (s —_— e ———————

www.math30.ca



Trigonometry costsr - Y62
LESSON SEVEN- Trigonometric Identities Il Jo-3
Lesson Notes sint>" =
CExample 1 2) Prove each trigonometric identity. , Assorted Proofs
/Jl ;I« d{ §’))
. 1. 2x .
a) (smx+costx) —1=sin2x b) S sinT-=singcos
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d) sin3x =3sinx —4sin’ x
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CExample 1 3> Prove each trigonometric identity.

Assorted Proofs
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